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I Read the text and answer the question below.

ZDOERTICEEE S IV TCWVA N EL

FEHE LB T2 8T TE R AL

[ H#(—FREZD) : https://www.npr.org/]



Choose the word which best fills @D —@0).

@ A. electronics

@ A. perspective

(® A. compromising

@ A. relieve

® A.if

® A. mysteries

@ A. fold

A. accused

@ A. present

A. revolutionized

B. philosophers

B. exception

B. reaching

B. update

B. to

B. negotiations

B. fund

B. trusted

B. demonstrate

B. surveyed

C. government

C. suppression

C. persevering

C. endure

C.on

C. extinctions

C. shed

C. collected

C. possess

C. unionized

D. mythology

D. perception

D. expanding

D. cure

D.or

D. institutions

D. pose

D. fueled

D. face

D. ruined



Il Read the text and answer the question below.

ZDOEFIZEEESIL TV A X E

FAEHE LB T2 8ITTE R AL

[HHidh (—EZY) : https://www.science.org/)

Choose the most appropriate phrase to fill in @ —®. Use each phrase only once.

bloodied nets and spent cartridges left behind by hunters
one element of a larger effort
reached the mouth of the cavern

the joy of summer expeditions

=0 0w

what they were searching for



Il T#REZ L < DB HAEICRRLAS L,

ZOE IR E SV TWA L E L

FAEE LB 22 8T TE R AL

[High (—5RZ) © https://www.scientificamerican.com/]

IV BAEORBKICED & 510, BEMeREE—ETEDLRIL,

1. Z0REFEDIRDEVWEARD - DIHEXEE L /-

— The professor ( ) ( ) ( ) to assess student behavior.

2. TDARY MIFEAREABRICOWTOREEEEH A2 L2 BE LTWS,

— This event ( ) ( ) raise awareness of sustainable development.



V  Read the text and answer the questions below.

ZDERTICERE S IV CUWNVA L EEE

FAEME LB 228 TE R A,




ZDOE IR E SV TCWA L E L

FAEHE LB 22 8T TE R A,

[HH# (—#BE4ZD) : https://www.economist.com/]



1  Choose the word from A — D which is closest in meaning to O—®.

@ A. flew | B..structured C. condemned D. opened

@ A. fancy B. decaying C. green D. plain

3 A. style B. architect C. function D. engineering
@ A. expel B. create C. provide D. cancel

® A.preserve B. abandon C. honor D. design

2  Choose the best answer for each question.

(1) What year did China’s Beijing Daxing airport open?
A. 2010
B. 2014
C. 2018
D. 2019

(2) In paragraph two, what does “punch above its weight” mean?
A. graduate to
B. exceed expectations
C. deceive others

D. obscure from

(3) What design theme is repeated throughout Mumbai’s Terminal 2?
A. a palm leaf
B. a lotus flower
C. bamboo
D. a peacock feather



(4) If aesthetically pleasing extras cost as much as Mr. Moore suggests, how much would
a $100 millon budget increase by adding the extras?

A. $100 thousand

B. $1 hundred

C. $1 million

D. $100 million

(5) According to Mr. Moore, which sentence best summarizes the difference in Chinese and
Indian attitudes toward modern airport design?
A. Compared to Chinese design, Indian design embraces modernity while honoring
its history and culture.
B. Chinese design prioritizes maintaining traditional design elements, while Indian
design focuses on being the most modern.
C. Chinese design prefers earthy tones, but Indian design uses primarily white.
D. Both Chinese and Indian airport design emphasize being sleek, modern, and

ambitious.



